KE

1. The number of people at people infected with the insatiable thirst for math after # minutes is modeled by the
function

(Calcul lator) 15430
W)= 0.341
1+182¢7

For each of the following give the three decimal approximation then round to the nearest person or minute.
(use approx. sign) Show all work that leads to your answer.

" Xu = -
(a) What was the initial number of people infected? XM;'\\C =35
— xsel= 0
Wio)=11e-199 < lerl i
@, z g5 =

(b) After how many minutes will the number of infected people be 5000?

‘/W(-Q S00 O -
= |2.)13% 3min —=* ——y=5000inY2

£=7

(c) After how many minutes is the infection be spreading the fastest rate?

At inflechion peint, at y= (5430 - 2= FFISppl

W{‘E\) =g'5 ;r’ﬁ—y =FHS iny

—

Dt = 15.305 X 15min =7
(d) How many people are infected after an hour and a half?
| he & hatl = b0 +30=9Pmin @
%(%) =/5429.999 ppl % 15730 p!

(e) According the model, what is the population of people?

Sinc e /&,_\_J W (_é) /517130 Jhe modke] Suajz.sfS
,00 M/m‘uoh is /9430 pesple
(f) After how many mmutes will the number of infected people reach 37% of the total population?

03 (15430)= 5309.1 gz

%
W= =

———y=5F09.) inyZ

=

13,70 & |4 min Noke: wWlk)y=57069
v hlans gives £ =13.340 £ 14 min also!
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2 Forf(x)_z+i(oo3)( 4 )
(No Calealakar

(a) Write f(x)in standard tzansformatl?(in form and describe the transformations.
- 7 (0 DoB) )

(b) Find the simplified, exact value of the y-intercept. Show the work that leads to your answer.
(AS('\Ij ar\j 1na| ealua-(—mn (easier)

‘J:{O) - :l; +1(D DC/(;@ 4>D{70$m’—»n

Sim Plifsed exact ansue l

(c) Sketch f'(x)showing the basic shape, y-intercept, and any/all asymptotes.

hcag/])areasf"ﬂ
Uk above x-avis & @

(d) Find D, : ?x[)(é R%Xor R or (- 009
@

(¢) Find R, : 75\ W > as:‘z> or (-%’o%

() Find the Equation(s) of any/all asymptotes. Be sure to label which type they are.
- =+
He @ _‘3 -z @
Bo nusS
) Lot
() f= "
(h) X— — OO-F—/,‘\ =
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